Answers to Exercise – Chapter 9
Answer – Exercise 1

(a)
This is investment property. HKAS 40 applies.

(b)
Owner-occupied property is excluded from the definition of investment property. HKAS 16 applies as normal.

(c)
Property held for sale in the ordinary course of business is excluded from the definition of investment property.

(d)
This is investment property. The definition carefully says held, not owned, so that properties held by lessees under financial leases do qualify as investment property if they are held for their investment potential. HKAS 40 applies.

Answer – Exercise 2

Property B should have been accounted for by using the revaluation model in accordance with HKAS 16. It should be transferred from owner-occupied property to investment property at the date of the lease commencement as there is a change in use evidenced by the lease commencement.
In accordance with HKAS 40, ABC Ltd should apply HKAS 16 on B up to the date of change in use and treat any difference at that date between its carrying amount under HKAS 16 and its fair value in the same way as a revaluation under HKAS 16.
In consequence, a revaluation surplus of $200,000 should be further recognized. Total revaluation reserves become $500,000. The reserves should be frozen and accounted for in accordance with HKAS 16 subsequently.

	
	Dr. ($)
	Cr. ($)

	Property, plant and equipment
	200,000
	

	Revaluation reserves
	
	200,000

	(To recognize the additional revaluation surplus.)
	
	

	
	
	

	Investment property
	1,200,000
	

	Property, plant and equipment
	
	1,200,000

	(To reclassify the property from property, plant and equipment to investment property.)



P. 1

